
1

Owner’s Manual

SREXTENDER
Rack Enclosure Extension Frame

Important Safety Instructions

SAVE THESE INSTRUCTIONS 
This manual contains instructions and warnings that must be followed during the installation and operation of the product described in this 
manual. Failure to comply may invalidate the warranty.

•	 The instructions in this manual are for common rack enclosure types and may not be appropriate for all mounting applications. You must 
determine the fitness of hardware and procedures before mounting. If hardware or procedures are not suitable for your application, contact the 
manufacturer of your equipment for a solution.

•	 Rackmount equipment may be extremely heavy—be careful when moving or lifting equipment. Use one or more assistants if necessary.

Preparation

Note: Tripp Lite recommends using an assistant during installation. Descriptions of left and right are relative to the rear of your rack 
enclosure. Illustrations may differ slightly from your enclosure, but procedures are similar for 48U, 42U and 25U enclosures unless 
otherwise noted.

•	 Phillips-head Screwdriver (user-supplied; cordless screwdriver recommended)

Tools Required

1111 W. 35th Street, Chicago, IL 60609 USA
(773) 869-1234 • www.tripplite.com

Copyright © 2008 Tripp Lite. All trademarks are the sole property of their respective owners.

Warra
nty 

Registra
tio

n: 

regist
er o

nlin
e to

day
 fo

r a
 

ch
ance

 to
 w

in a FREE Tr
ipp Lite

 

product—
www.tri

pplite
.co

m/w
arra

nty

Español	 8

Français	 15



2

F

G

A B C D E H N

O

P

K

L

M

I

J

A

B

C

D

48/42U

1-1

Preparation (continued)

Note: The hinge swivels H  and 12 hinge swivel screws L  are pre-installed in the vertical sections A  through D .

Parts List (If any parts are missing, contact Tripp Lite.)

A 	Lower Left Vertical Section (1)
B 	Lower Right Vertical Section (1)
C 	Upper Left Vertical Section (1)
D 	Upper Right Vertical Section (1)
E 	Top Section (1)
F 	Bottom Section (1)

G 	1U Blanking Panels (3)
H 	Hinge Swivels (6 - all pre-installed)
I 	Hinges (4)
J 	Cable Manager Brackets (2)
K 	M6 x 12 mm Flat-Head Screws (8)
L 	M6 x 12 mm Pan-Head Screws  

and Washers (14 total - 12 pre-installed)

M 	M5 x 10 mm Pan-Head Screws  
and Washers (40)

N 	Grounding Cable (1)
O 	M5 x 20 mm Pan-Head Screws and 

Washers (4)
P 	M4 x 8 mm Pan-Head Screws  

and Washers (8)

1 – Frame Assembly

Note: For 25U enclosures, you will use only the lower vertical sections A  and B .  You will not use the upper vertical sections C  and D .  
For 48U and 42U enclosures, you will use all four vertical sections.

(For 25U enclosures, skip this step.) Slide the lower left vertical 
section A  inside the upper left vertical section C  as shown. 
Repeat for the lower right vertical section B  and the upper right 
vertical section D . The vertical sections are not interchangeable, 
so refer to the diagram to confirm that you’re assembling the 
correct sections.

1-1



3

48U

42U

A AB B

C CD D

M

F

M

M

E

M

M

E G

1-2

1-3

1-4

1-5

1 – Frame Assembly (continued)

(For 25U enclosures, skip this step.) Align the set of four screw 
holes in the lower left vertical section A  and the upper left 
vertical section C . Use the lower set of screw holes for 48U 
enclosures (this will make the vertical section longer). Use the 
upper set of screw holes for 42U enclosures (this will make the 
vertical section shorter). Insert four M5 x 10 mm screws and 
washers M  and tighten securely. (Start all the screws before 
tightening.) Repeat for the lower right vertical section B  and the 
upper right vertical section D .

Insert the lower end of the left vertical section into the 
bottom section F  as shown. Align the screw holes, insert four 
M5 x 10 mm screws and washers M  and tighten securely. (Start 
all the screws before tightening.) Repeat this step for the right 
vertical section.

Insert the upper end of the left and right vertical sections into the 
top section E . Align the screw holes, insert eight M5 x 10 mm 
screws and washers M  and tighten securely. (Start all the screws 
before tightening.)

Insert the 1U blanking panels G  into the top section E .  
Each blanking panel will snap into place with the Tripp Lite logo 
facing outward. The blanking panels may be removed to install 
standard 19-inch rack accessories up to 3U – contact Tripp Lite 
for more information.

1-2

1-3

1-4

1-5



4

48/42U

J

J

J

M

M

48/42U

25U

I

I

I

K

42U

48U

1-6

1-7

1 – Frame Assembly (continued)

(For 25U enclosures, skip this step.) Attach the cable manager 
brackets J  to the vertical sections with four M5 x 10 mm screws 
and washers M  as shown. (For 48U enclosures, use the upper 
set of holes. For 42U enclosures, use the lower set of holes. The 
brackets will face downward.)

Use two M6 x 12 mm flat-head screws K  to attach each hinge 
I  as shown. Orient each hinge so that the pin is closer to the 

outside of the frame than the inside.

1-6

1-7



5

48/42U

25U
H

L

90°

2-3

2-4

2-2

2-1

Loosen the screws L  attaching the hinge swivels H  to the vertical 
sections in the four locations indicated. You will retighten the 
screws in the next step, after attaching the frame to the rack 
enclosure.

Unscrew the grounding cable of the rack enclosure’s right rear 
door from the rack enclosure. (Do not unscrew the cable from the 
door). Repeat for the left rear door. Save the screws and washers 
for later use.

Open the right rear door until it is perpendicular (90 degrees) to 
the rear of the enclosure, lift it from the hinges and set it aside. 
Repeat for the left rear door. (If the enclosure is joined to another 
enclosure, turn the door back toward the enclosure as you lift it 
from the hinges.)

With the aid of an assistant, lift the frame, align the frame’s hinge 
swivels with the rack enclosure’s hinges and hang the frame from 
the hinges. When the frame is securely aligned with the rack 
enclosure, tighten the hinge swivel screws that you loosened in 
the previous step.

2-1

2-2

2-4

2 – Fixation du cadre (suite)

2-3



6

N

L

O

O

48/42U2-5

2-6

2-7

2-8

2 – Frame Attachment (continued)

Use two M6 x 12 mm screws and washers L  to connect the 
included grounding cable N  from the rack enclosure to the 
extension frame.

Reverse step 2-2 to attach the rear doors to the extension frame.

Attach the grounding cable of each rear door to the grounding 
points of the extension frame as shown. (Use the screws and 
washers removed in step 2-1.)

(For 25U enclosures, skip this step.) Use four M5 x 20 mm 
screws and washers O  to secure the frame to the rear of the rack 
enclosure.

2-5

2-6

2-7

2-8



7

P

2-9

Remove the rack enclosure’s cable management rails and reinstall 
them inside the extension frame. (Extra M4 x 8 mm screws and 
washers P  are included for your convenience.) 

Warranty Registration

Visit www.tripplite.com/warranty today to register the warranty for your new Tripp Lite product. You’ll be automatically entered into a drawing for 
a chance to win a FREE Tripp Lite product! No purchase necessary. Void where prohibited. Some restrictions apply. See website for details.

Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice.

Made in China.

2 – Frame Attachment (continued)

2-9

1111 W. 35th Street, Chicago, IL 60609 USA
(773) 869-1234 • www.tripplite.com

200808081  93-2828



8

Manual del propietario

SREXTENDER
Marco de extensión para gabinetes de rack 

Instrucciones de seguridad importantes

GUARDE ESTAS INSTRUCCIONES 
Este manual contiene instrucciones y advertencias que deben seguirse durante la instalación y operación del producto descrito en este manual. 
Su inobservancia puede invalidar la garantía.

•	 Las instrucciones de este manual son para los tipos comunes de gabinetes de racks y pueden no ser apropiados para todas las aplicaciones 
de montaje. El usuario debe determinar si los herrajes y los procedimientos son adecuados antes de la instalación. Si los herrajes y los 
procedimientos no son adecuados para su aplicación, contacte el fabricante de su rack o gabinete para hallar una solución.

•	 Los equipos rackmount pueden ser sumamente pesados—tenga cuidado al moverlos o levantarlos. Use uno o más ayudantes si es necesario.

Preparación

Nota: Tripp Lite recomienda usar un ayudante durante la instalación. Las descripciones de la izquierda y la derecha están relacionadas 
con la parte trasera del gabinete de rack. Las ilustraciones pueden diferir ligeramente de su gabinete, pero los procedimientos son 
similares para los gabinetes 48U, 42U y 25U, a menos que se especifique lo contrario. 

•	 Destornillador de cabeza Phillips (lo suministra el usuario; se recomienda un destornillador inalámbrico) 

Herramientas necesarias 

1111 W. 35th Street, Chicago, IL 60609 USA
(773) 869-1234 • www.tripplite.com

Copyright © 2008 Tripp Lite. Todas las marcas comerciales son de propiedad de sus respectivos dueños. 

English	 1

Français	 15



9

F

G

A B C D E H N

O

P

K

L

M

I

J

A

B

C

D

48/42U

1-1

Preparación (continuación)

Nota: Los pivotes de las bisagras H  y los 12 tornillos de los pivotes de las bisagras L  están pre-instalados en las secciones verticales A  a D .

Lista de partes (si le falta alguna parte, contacte a Tripp Lite).

A 	Sección vertical inferior izquierda (1)
B 	Sección vertical inferior derecha (1)
C 	Sección vertical superior izquierda (1)
D 	Sección vertical superior derecha (1)
E 	Sección de arriba (1)
F 	Sección de abajo (1)

G 	Paneles de protección 1U (3)
H 	Pivotes de las bisagras  

(6 – todos pre-instalados)
I 	Bisagras (4)
J 	Abrazaderas sujeta cables (2)
K 	Tornillos de cabeza plana M6 x 12 mm (8)
L 	Tornillos de cabeza Pan M6 x 12 mm y 

arandelas (14 en total – 12 pre-instalados)

M 	Tornillos de cabeza Pan M5 x 10 mm y 
arandelas (40)

N 	Cable de tierra (1)
O 	Tornillos de cabeza Pan M5 x 20 mm y 

arandelas (4)
P 	Tornillos de cabeza Pan M4 x 8 mm y 

arandelas (8)

1 – Ensamblaje del bastidor

Nota: Para los gabinetes 25U, se usarán solamente las secciones verticales inferiores A  y B .  No se usarán las secciones verticales 
superiores C  y D . Para los bastidores 48U y 42U, se usarán las cuatro secciones verticales.

(Para los bastidores 25U, omita este paso). Deslice la sección 
vertical inferior izquierda A  dentro de la sección vertical superior 
izquierda C  como se muestra. Repita para la sección vertical 
inferior derecha B  y la sección vertical superior derecha D . Las 
secciones verticales no son intercambiables, consulte el diagrama 
para confirmar que esté ensamblando las secciones correctas. 

1-1



10

48U

42U

A AB B

C CD D

M

F

M

M

E

M

M

E G

1-2

1-3

1-4

1-5

1 – Ensamblaje del marco (continuación)

(Para los gabinetes 25U, omita este paso). Alinee el juego de 
cuatro agujeros para tornillos de la sección vertical inferior 
izquierda A  y de la sección vertical superior izquierda C . Use 
el juego inferior de agujeros para tornillos para los bastidores 
48U (esto alargará la sección vertical). Use el juego de agujeros 
superiores para los bastidores 42U (esto acortará la sección 
vertical). Inserte cuatro tornillos M5 x 10 mm y sus arandelas M  
y ajústelos apretadamente. (Coloque todos los tornillos antes de 
apretarlos). Repita para la sección vertical inferior derecha B  y la 
sección vertical superior derecha D .

Inserte el extremo inferior de la sección vertical izquierda en la 
sección de abajo F  como se muestra. Alinee los agujeros de los 
tornillos, inserte cuatro tornillos M5 x 10 mm y sus arandelas M  
y ajústelos apretadamente. (Coloque todos los tornillos antes de 
apretarlos). Repita este paso para la sección vertical derecha.

Inserte el extremo superior de las secciones verticales izquierda 
y derecha en la sección de arriba E . Alinee los agujeros de los 
tornillos, inserte ocho tornillos M5 x 10 mm y sus arandelas M  
y ajústelos apretadamente. (Coloque todos los tornillos antes de 
apretarlos). 

Inserte los paneles de protección 1U G  en la sección superior E . 
Cada panel de protección ajusta en su lugar con el logo Tripp 
Lite mirando hacia fuera. Los paneles de protección pueden ser 
retirados para instalar accesorios de rack estándar de 19 pulgadas 
hasta de 3U – contacte a Tripp Lite para más información. 

1-2

1-3

1-4

1-5



11

48/42U

J

J

J

M

M

48/42U

25U

I

I

I

K

42U

48U

1-6

1-7

1 – Ensamblaje del marco (continuación)

(Para los gabinetes 25U, omita este paso). Asegure las 
abrazaderas sujeta cables J  a las secciones verticales con cuatro 
tornillos M5 x 10 mm y sus arandelas M  como se muestra. 
(Para los gabinetes 48U, use el juego de agujeros superiores. 
Para los bastidores 42U, use el juego de agujeros inferiores. Las 
abrazaderas apuntarán hacia abajo).

Use dos tornillos M6 x 12 mm de cabeza plana K  para asegurar 
cada bisagra I  como se muestra. Oriente cada bisagra de modo 
que la clavija esté más cerca del exterior del bastidor que del 
interior. 

1-6

1-7



12

48/42U

25U
H

L

90°

2-3

2-4

2-2

2-1

Afloje los tornillos L  que aseguran los pivotes de las bisagras H  a 
las secciones verticales en las cuatro ubicaciones indicadas. Usted 
apretará de nuevo los tornillos en el paso siguiente, después de 
fijar el marco al gabinete del rack.

Destornille del gabinete el cable de tierra que está fijado a la 
puerta trasera derecha del gabinete. (No destornille el cable de 
la puerta). Repita para la puerta trasera izquierda. Guarde los 
tornillos y las arandelas para usarlos posteriormente.

Abra la puerta trasera derecha hasta que quede perpendicular (90 
grados) a la parte trasera del gabinete, levántela de las bisagras 
y déjela a un lado. Repita para la puerta trasera izquierda. (Si 
el gabinete está unido a otro gabinete, gire la puerta hacia el 
gabinete mientras la retira de las bisagras).

Con la asistencia de un ayudante, levante el marco, alinee los 
pivotes de las bisagras del marco con las bisagras del gabinete 
del rack y cuelgue el marco de las bisagras. Cuando el marco 
esté alineado correctamente con el gabinete del rack, apriete los 
tornillos de los pivotes de las bisagras que había aflojado en el 
paso anterior.

2-1

2-2

2-4

2 – Fijación del marco

2-3



13

N

L

O

O

48/42U2-5

2-6

2-7

2-8

2 – Fijación del marco (continuación) 

Use dos tornillos M6 x 12 mm y sus arandelas L  para conectar 
el cable de tierra incluido N  desde el gabinete del rack hasta el 
marco de extensión.

Revierta el paso 2-2 para fijar las puertas traseras al marco de 
extensión. 

Fije el cable de tierra de cada puerta trasera a los puntos de tierra 
del marco de extensión como se muestra. (Use los tornillos y 
arandelas que había retirado en el paso 2-1). 

(Para los gabinetes 25U, omita este paso). Use cuatro tornillos 
M5 x 20 mm y sus arandelas O  para asegurar el marco a la parte 
trasera del gabinete del rack.

2-5

2-6

2-7

2-8



14

P

2-9

Retire los rieles de conducción de cables del gabinete del rack y 
reinstálelos dentro del marco de extensión. (Para su comodidad se 
incluyen tornillos M4 x 8 mm y arandelas P  adicionales). 

Tripp Lite tiene una política de mejoramiento continuo. Las especificaciones están sujetas a cambio sin previo aviso.

Fabricado en China.

2 – Fijación del marco (continuación)

2-9

1111 W. 35th Street, Chicago, IL 60609 USA
(773) 869-1234 • www.tripplite.com



15

Manuel d’utilisateur

SREXTENDER
Cadre d’extension d’enceinte d’armoire 

Directives de sécurité importantes

SAUVEGARDER CES DIRECTIVES  
Ce manuel contient les directives et les avertissements qui doivent être suivis pendant l’installation et l’utilisation du produit décrit dans ce 
manuel. Le manque de s’y conformer peut annuler la garantie.

•	 Les directives contenues dans ce manuel sont destinées pour les types communs d’armoire et d’enceinte d’armoire et peuvent ne pas être 
appropriées pour toutes les applications de montage. Vous devez déterminer l’aptitude du matériel et des procédures avant le montage. Si le 
matériel ou les procédures ne sont pas appropriés à votre application, veuillez contacter le fabricant de votre armoire pour une solution.

•	 Le matériel Rackmount peut être extrêmement lourd— faites attention en déplaçant ou soulevant le matériel. Utiliser un ou plusieurs aides au 
besoin.

Préparation

Remarque : Tripp Lite recommande d’utiliser l’aide d’une autre personne pendant l’installation. Les descriptions de gauche et droite 
sont faites par rapport à l’arrière de votre enceinte d’armoire. Les illustrations peuvent différer légèrement de votre enceinte, mais les 
procédures sont semblables pour les enceintes 48U, 42U et 25U sauf indication contraire.

•	 Tournevis Phillips (fourni par l’utilisateur ; tournevis sans fil recommandé) 

Outils nécessaires 

1111 W. 35th Street, Chicago, IL 60609 USA
(773) 869-1234 • www.tripplite.com

Droits d’auteur © 2008 Tripp Lite. Toutes les marques déposées sont la propriété unique de leurs propriétaires respectifs. 

Español	 8

English	 1



16

F

G

A B C D E H N

O

P

K

L

M

I

J

A

B

C

D

48/42U

1-1

Préparation (suite)

Remarque : Les pivots de charnière H  et les 12 vis L  de pivots de charnière sont préinstallés dans les sections verticales A  à D . 

Liste des pièces (si des pièces manquent, contacter Tripp Lite.)

A 	Section verticale gauche inférieure (1)
B 	Section verticale droite inférieure (1)
C 	Section verticale gauche supérieure (1)
D 	Section verticale droite supérieure (1)
E 	Section supérieure (1)
F 	Section inférieure (1)

G 	Panneaux d’obturation 1U (3)
H 	Pivots de charnière (6 - tous préinstallés)
I 	Charnières (4)
J 	Crochets de gestion de câble (2)
K 	M6 x 12 mm vis à tête plate (8)
L 	M6 X 12 mm vis à tête cylindrique 

bombée et rondelles (14 totaux - 12 
préinstallés)

M 	M5 x 10 mm vis à tête cylindrique bombée 
et rondelles (40)

N 	Câble de mise à la terre (1)
O 	M5 x 20 mm vis à tête cylindrique bombée 

et rondelles (4)
P 	M4 x 8 mm vis à tête cylindrique bombée 

et rondelles (8)

1 – Assemblage de cadre

Remarque : Pour les enceintes 25U, vous utiliserez seulement les sections verticales inférieures A  et B . Vous n’utiliserez pas les sections 
verticales supérieures C  et D . Pour les enceintes 42U et 48U, vous utiliserez les quatre sections verticales.

(Pour les enceintes 25U, sauter cette opération.) Glisser la 
section verticale gauche inférieure A  à l’intérieur de la section 
verticale gauche supérieure C  comme montré. Répéter pour 
la section verticale droite inférieure B  et la section verticale 
droite supérieure D . Les sections verticales ne sont pas 
interchangeables, donc se référer au tableau pour confirmer que 
vous assemblez bien les sections correctes.

1-1



17

48U

42U

A AB B

C CD D

M

F

M

M

E

M

M

E G

1-2

1-3

1-4

1-5

1 – Assemblage de cadre (suite)

(Pour les enceintes 25U, sauter cette opération.) Aligner 
l’ensemble de quatre trous de vis dans la section verticale gauche 
inférieure A  et la section verticale gauche supérieure C . Utiliser 
l’ensemble inférieur de trous de vis pour les enceintes 48U (ceci 
allongera la section verticale). Utiliser l’ensemble supérieur de 
trous de vis pour les enceintes 42U (ceci raccourcira la section 
verticale). Insérer quatre vis M5 x 10 mm et les rondelles M  et 
serrer solidement. (Mettre en place toutes les vis avant le serrage.) 
Répéter pour la section verticale droite inférieure B  et la section 
verticale droite supérieure D .

Insérer l’extrémité inferieure de la section verticale gauche 
dans la section inférieure F  comme affiché. Aligner les trous de 
vis, insérer quatre vis M5 x 10 mm et les rondelles M  et serrer 
solidement. (Mettre en place toutes les vis avant le serrage.) 
Répéter cette opération pour la section verticale droite.

Insérer l’extrémité supérieure des sections verticales gauches 
et droites dans la section supérieure E . Aligner les trous de 
vis, insérer huit vis M5 x 10 mm et les rondelles M  et serrer 
solidement. (Mettre en place toutes les vis avant le serrage.) 

Insérer les panneaux d’obturation 1U G  dans la section supérieure  
E . Chaque panneau d’obturation sera enclenché en place avec 
le logo de Tripp Lite vers l’extérieur. Les panneaux d’obturation 
peuvent être retirés pour installer des accessoires standard 
d’armoire de 19 pouces jusqu’à 3U - contacter Tripp Lite pour 
plus d’information. 

1-2

1-3

1-4

1-5



18

48/42U

J
J

J

M M

48/42U

25U

I

I

I

K

90°

42U 48U

1-6

1-7

2-2

2-1

1 – Assemblage de cadre (suite)

Dévisser le câble de mise a la terre de la porte arrière droite de 
l’enceinte d’armoire de l’enceinte d’armoire. (Ne pas dévisser le 
câble de la porte). Répéter la même chose pour la porte arrière 
gauche. Sauvegarder les vis et les rondelles pour un usage 
ultérieur.

Ouvrir la porte arrière droite jusqu’à ce qu’elle soit 
perpendiculaire (90 degrés) a l’arrière de l’enceinte, la soulever 
des charnières et la mettre de côté. Répéter la même chose pour la 
porte arrière gauche. (Si l’enceinte est jointe à une autre enceinte, 
tourner la porte en arrière vers l’enceinte alors que vous la 
soulevez a partir des charnières.)

(Pour les enceintes 25U, sauter cette opération.) Attacher les crochets de gestionnaire de câble J  aux sections verticales avec quatre vis M5 
x10 mm et les rondelles M  comme affiché. (Pour les enceintes 48U, utiliser l’ensemble supérieur de trous. Pour les enceintes 42U, utiliser 
l’ensemble inférieur de trous. Les crochets feront face vers le bas.)

Utiliser deux vis à tête plate de M6 x 12 mm K  pour attacher 
chaque charnière I  comme affiché. Installer chaque charnière 
de sorte que la broche soit plus près de l’extérieur du cadre 
que de l’intérieur. 

2-1

2-2

2 – Fixation du cadre

1-6

1-7



19

48/42U

25U H
L

2-3

2-4

2 – Fixation du cadre (suite)

N

L

O

O

48/42U2-5

2-6

Desserrer les vis L  attachant les pivots de charnière H  aux 
sections verticales dans les quatre emplacements indiqués. Vous 
resserrerez les vis dans la prochaine étape, après avoir attaché 
le cadre à l’enceinte d’armoire.

Avec l’aide d’une autre personne, soulever le cadre, aligner les 
pivots de la charnière du cadre avec les charnières d’enceinte 
d’armoire et accrocher le cadre à partir des charnières. Lorsque 
le cadre est solidement aligné avec l’enceinte d’armoire, serrer 
les vis de pivot de charnière que vous avez desserrées lors de 
l’étape précédente.

2-4

2-3

Utiliser deux vis M6x12 mm et rondelles L  pour connecter le 
câble de mise a la terre inclus N  de l’enceinte d’armoire au cadre 
d’extension.

(Pour les enceintes 25U, sauter cette opération.) Utiliser quatre 
vis M5 x 20 mm et les rondelles O  pour attacher le cadre à 
l’arrière de l’enceinte d’armoire.

2-5

2-6



20

P

2-9

2-7

2-8

2 – Fixation du cadre (suite)

Faire l’étape 2-2 en marche arrière pour attacher les portes arrière 
au cadre d’extension.

Attacher le câble de mise à la terre de chaque porte arrière aux 
prises de masse du cadre d’extension comme affiché. (Utiliser les 
vis et les rondelles retirées lors de l’étape 2-1.)

Retirer les rails de gestion du câble d’enceinte d’armoire et les 
réinstaller à l’intérieur du cadre d’extension. (Des vis M4 x 8 
mm supplémentaires et les rondelles P  sont incluses pour votre 
commodité.) 

La politique de Tripp Lite est celle d’une amélioration continuelle. Les spécifications peuvent être modifiées sans préavis.

Fabriqué en Chine.

2-7

2-8

2-9

1111 W. 35th Street, Chicago, IL 60609 USA
(773) 869-1234 • www.tripplite.com

200808081  93-2828


